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Practice Circuit Analysis 1
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* Find all currents and voltages
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NO Jd [Practlce Circuit Analysis 1

1' * Find all currents and voltages
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* Find all currents and voltages
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Discussion Circuit Analysis
* How can you find the voltages indicated?

» Compare ability to use L e
nodal analysis vs. mesh |
analysis.
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We need to substitute Ohm's Law into the KVL equations, using net I and R for each
element. But there is NO WAY to know the resistance for a current source. Ohm's Law

is defined for resistors, not for sources. So we cannot use Mesh analysis when more
than one mesh, or loop, shares a current source.
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» How to find the voltages indicated?
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Vi Practice Circuit Analysis 2
s * Find all currents and voltages
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* Find all currents and voltages
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Discuss Practice Analysis

Try_nodel aralyrs
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Rearrew CLass Problom
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